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CRIMINOLOGY
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Maps are associated with :
(A) Biological School (B) Cartographic School
(C) Positive School (D) Classical School

2. Criminology deals with :
(A) the process of making laws
(B) the process of breaking laws
(C) society’s reaction to the breaking laws

(D) All the above

3.  The dark figure of crime refers to :
(i)  Crime is not reported to the police
(i) Criminal Act committed by police officers
(iii) Crime is not reflecting in the crime statistics of the country
(iv) Crimes that take place between 6 PM & 6 A M
(A) (i), (ii) and (iii) are correct
(B) (i) and (iii) are correct
(C) (i) and (iv) are correct
(D) (iv) alone is correct
4.  “Society prepares the crime and the guilty uses only the instruments by which it is

executed”, who gave this statement ?

(A) Guarey (B) Lombroso (C) Quetelet (D) Ferri

5.  Which among the following related to “Anomie” ?

(A) Foeticide (B) Matricide (C) Suicide (D) Homicide
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Assertion (A) : Cyber Crimes are fast increasing
Reason (R) : Those people have computers
(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true but (R) is false

(D) (R)is true and (A) is false

Classical school has guided the following stream of criminological research and policy
study :

(A) Scientific study of crime (B) Differential learning

(C) Rehabilitation theory (D) Rational choice theory

Karl Marx believed society was most influenced by :
(A) Gender inequality (B) Division of social class

(C) Religion (D) Family

Assertion (A) : Outer or external containment represent the capability of society
(groups, organizations and communities) to hold the behaviour
individuals within the bounds of accepted norms.

Reason (R) : Containment theory would not apply, if the criminal activity is a part
of a traditional way of life for a whole group of people such as criminal
tribes, bands of gupcies, smuggling villages.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true
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10. Following are the theories of crime in the order in which they appeared. Use the code
given below and choose the correct answer :

(i) Classical school

(i) Demonology

(i) Positive school

(iv) Sociological explanation
Code :

(A) (Gil), (i), iv), ()

(B) (i), (ii), (iii), (iv)

(C) (i), (i), (iii), (iv)

(D) (), (i), (i), (i)

11. Psychological theories of crime usually assume that :
(A) Behaviour is shaped by class and gender relations
(B) Genetic influence is greater than environmental influence
(C) Offenders have special traits and deficits

(D) Psychology and criminology are unrelated
12. Two strongest known correlates of crime are :
(A) City & village (B) Caste & religion

(C©) Men & women (D) Personality and attitude

13.  Which of the following pair is not correctly matched :

(A) Classical school —  Cesare Beccara
(B) Economic theory —  Karl Marx

(C) Psychoanalytic theory —  E.H. Sutherland
(D) Anomie theory —  E.Durkhiem
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14.

15.

16.

17.

18.

Which one of the following is an attribute of well-being ?
(i) Negative thinking

(ii) Generation gap

(iii) Ethical conduct

(iv) None of the above

Code :

(A) (i) is correct

(B) (ii) and (iii) are correct
(C) (i) and (iii) are correct
(D) (iii) are correct

Which among the following pair is not correctly matched ?

(A) Conformity — law abiding

(B) Right to life —  Article 21 of the constitution
(C) Right to information —  David Abrahamns

(D) Equality in public employment —  Article 16(1) of the constitution

The first annual crime statistics was published in :

(A) England (B) France (C) Germany (D) USA

When criminologists discovered two phenomenon vary together they called :

(A) Causation (B) Variable
(C) Correlation (D) Association
Assertion (A) : Hypothesis are statements about events of things that researchers

believe are true or false.

Reason (R) : Hypothesis are always employed in pairs. The first of the pair is
typically stated in status quo terms (null hypothesis), the other
type is stated in term exactly opposite to null hypothesis
(Alternate hypothesis).

Code :
(A) (A) is true but (R) is false

(B) (A) is false but (R) is true
(C) Both (A) and (R)are true and (R) explains (A)
(D) Both (A) and (R) are true but (R) does not explain (A)
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19.

20.

21.

22.

23.

Assertion (A) : Variable is a characteristic or quantity that can have different value.

Reason (R) : Variables are the building blocks of research in criminology. Itincludes
such things; number of crimes, age, sex of offenders and the victims,
how people perceive crimes etc.

Code :
(A) (A) is correct but (R) is false

(B) (A) is false but (R) is correct
(C) Both (A) and (R)are correct
(D) Both (A) and (R) are false

Assertion (A) : Univariate statistics are the statistics describing a single variable.

Reason (R) : They include such measures where two variables are compared, at
the same time.

Code :
(A) Both (A) and (R)are true

(B) Both (A) and (R)are true, but (R) is not the correct explanation
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Which among the following issues are important in understanding abuse of women
and domestic violence ?

(A) Structural social inequality (B) Breakdown of gender roles
(C) Cultural Relativism (D) Ethno Casteism

Which among the following is associated with socialist femanism
(A) A focus on class relations (B) A focus on gender relations

(C) positivism (D) New sexual assault laws

In drug dependence, arrange the stages in order in which an addict goes through :
(i)  Chronic stage

(i) Experimental stage

(iii) Recreation stage

(iv) Regular stage

Code :

(A) (i), (i), (iv), (i)
B) (@), (i), (iv), (ii)
Q) (), (i), (iv), (i)
(D) (iv), (i), (i), (i)
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24.

25.

26.

27.

28.

Assertion (A) : The most comprehensive characterization of female criminality is that
criminality of women is largely “masked behaviour”. Masked in the
sense of being hidden by ordinary female roles in society like housewife,
mother, nurse, shopper, etc;

Reason (R) : Women, while performing their roles prescribed by the society, commit
crimes. But these crimes are difficult to find out.

Code :
(A) (A) and (R) are true

(B) (A) is true but (R) is false
(C) Both (A) and (R) are true and (R) is the correct explanation of (A)
(D) Both (A) and (R) are true and but (R) is not the correct explanation of (A)

Assertion (A) : Shyam is charged with trafficking but claims he was unaware that
small parcel he had delivered to an individual contained illegal drugs.

Reason (R) : This is the defence of negligence.
Code :
(A) (A) is wrong but (R) is correct

(B) (A) is correct but (R) is wrong
(C) Both (A) and (R) are correct but (R) is the correct explanation of (A)
(D) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

The percentage of juvenile deliquency to the IPC crime rate is :
(A) About 5% (B) More than 25%
(C) Less than 2% (D) More than 10%

The book “Unravelling” Juvenile Delinquency was written by :
(A) W.H. Sheldon (B) ].B. Corte

(C) D.R. Cressey (D) E. Gluekand Gluek

Which of the following is not correctly matched ?

(A) Temporary reception —  Observation home
(B) Children in conflict with law —  Special home

(C) Children in need of care & protection —  Vigilance home

(D) Children not in conflict with law —  Juvenile Justice Board
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29. Arrange the following concepts in which they are developed. Use the code given below :
(i) Reformation
(i) Retribution
(i) Rehabilitation
(iv) Resocialistion
(A) (), (iv), (i), (i
( (i), (i), (iii), (iv
(©) (), @), (i), (v
(D) (i), (i), (@), (i

~— ~— ~— =

30. ‘Beiging Rules” deals with :
(A) Woman Rights (B) Juvenile Justice Administration
(C) Prisoner Rights (D) Victim Rights

31. ‘Target hardening’ refers to :
(A) Early legislation (B) Increased physical security

(C) Withdrawing operation (D) Structural reaction

32. Match the following :

List-1 List-11
(a) Punishment is an end itself (i) Prevention
(b) Punishment is a means to achieve certain ends (i) Reformation

with the aid of criminal law

() Punishment is a measure to reclaim the (iii) Deterance
offender not to confuse (or) harass him

(d) Punishment is to prevent the (iv) Restitution
commission of crime

Code :

(A) @) () @) ()
B) @ @) @G (@)
(© Gv) (@) @) @)
(D) @) (@v) () (@)
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29. 9 saumoneT &l 3% it fom & HHTIR SHafked HIfIT | 98d Fe & IR | T&
I T I hITG
(i) gux

i) wfaeny
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(A) YR HehgHaIST (B) Wafda «ifien geam

(C) IR I AIH T (D) AT gfafshan

32, g I 1 T I § Safcd iV SR 9Sd e o STER W §8l I 1 =94 HiT |

-1 get-11
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Bl 9gaM ST¥aT 39 IS o ford |
(d) G T R R K AT IR T (iv) A TR
HIg
(@ B () @
(A) (@) () (@) (@)
(B) @ @) () ()
Q) (v) @) @) @)
(D) (i) (v) (i) ()
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33. Which among the following is the most important option for a correction
programme ?

(A) A high rate of prevention of crime (B) A low rate of recidivism

(C) Ego building therapy (D) Occupational training

34. A prison sentence that does not involve prison work is called :
(A) Long term imprisonment (B) Simple imprisonment

(C) Capital punishment (D) Rigorous imprisonment

35. The stages involved in awarding capital punishment in India, is given below. Sequence
it as they happen. Use the code given below :

(i)  Reference to High Court
(ii) District Court

(iii) Appeal to Supreme Court
(

iv) Mercy petition to Governor and President

Code :

(A) (i), () (i), (iv)
(B)  (v), (i), (i), (iii)
(© (@), (i), (i), (iv)
(D) (i), (i), (i), (iv)

36. Premature release refers to :

(A) Release by police
(B
(
(

~—~

Release by probation officer
C) Release by legal service authorities

D) Release on good behaviour empowered by state governments

37. CCIVis:
(A) Closed Colour Television (B) Closed Circular Television
(C) Closed Combat Television (D) Closed Circuit Television
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33.

34.

35.

36.

37.

frefafed § 9 gt gur Frws § god s qewmyl fased €2
(A) Uy FERu =it 39 (B) 37Uy HYA ol 1
(C) 37 fmfor faferea (D) HATEEIIE Gieqor

3G he i T, TTEH ) h FROR F 18 HH 1 Gol 61 B, sl 51 hel Sl © 2
(A) SR HRE™E (B) WM HRETE

(C) HJITUS (D) SR HREH

IRd § gg <ve e S areht it staenedl =il i foon = w1 §1 37 stawensii 1 3wt
SHHATTHR HAd hIfST |

(i) BTEHIS hl HefHA HEA

(i) fSen e

(i) = =A™ ol TdA

(iv) T & qPAfd I <A & fer orsit

qeTyd gfte 9 e §
(A) Ffer gRI SIS S

(B) HaT efueht g BIS S
(C) iftrek Ha WIfeshTol BRI BIg ST
(

D) TF TR R STfHdhd HEHEeR BH % SRl SIS S

WE AN RT?

(A) TS Her SalforsH (B) FAISIE Hehorl aflforsH
C) TFANE H¥de Al D) TASIS Hiche TeAtfersT
(©) (
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38.

39.

40.

The stages involved in placing the probation is given below. Use the code provided to
indicate the correct sequence of events :

(i) Pre-sentencing report

(i) Release on probation

(i) Refered by magistrate

(iv) Revoking probation (if necessary)
Code :

(A) (i), (i), (i), (i)

B) (), (i), (i), (iv)

(© (i), (ii), (i), ()

(D) (i), (i), (i), (iv)

Assertion (A) : Capital punishment, in India, is used in the rarest of rare cases.

Reason (R) : Capital punishment is a non-reversible process, of judicial taking away
of a human life and hence the term ‘rarest of rare cases’, is clearly
defined by law.

Code :

(A) (A) is correct but (R) is wrong
(B) Both (A) and (R)are correct
(C) (A) is wrong but (R) is correct
(D) Both (A) and (R)are wrong

Assertion (A) : Parole is a form of conditional release from a parole and correctional
institution after the prisoner has served a part of his sentences.

Reason (R) : Parole plays an important role in maintaining the bond between the
prison inmate and his family.

A) (A) is true but (R) is false

(

(B) Both (A) and (R) are true
(C) (A) is wrong but (R) is true
(

D) Both (A) and (R) are false
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38. TEH H oI Al fafve staeenst w1 e foo S @18 | USW ®e o SHUR W 3 SFeesi &
T2 HH T =T HIfC |

()
(i
(iii)
(iv)

iv

a e R

HI®|-‘<’I"|":R?9I€§"II

fifsege g wafva

TIeeH o (AfS STEwa® 8) &

iv), (iii), (i), (ii)
i), (ii), (iii), (iv)
iv), (i), (ii), (i)

(
(
(
(iif), (1), (ii), (iv)

39. AfUReM (A): ¥RA H I TUS STHIEROI HYell | ¥ STHIEROGH HHel B faan S €1

e (R) : fopelt Wa =1 Site foRddt = I g1 B ST W 7 U &l Talel el

GICICE

S

T GehdT | 3TR SHfAT STRO AHc § & AHTROGY JTH &l T8 ®9 9
Ty fomam T

(A) T T T (R) T T
(A) 3R (R) SHI T2 & |
(A) e 8, G (R) W ©
(A) 3R (R) I Ted & |

40. AIRT (A): T FRET ST I, ST TN 1 FB 9T A o o 9941, forelt Tl oo

YR AT GRT 99T @1 foan i 7 |

TF (R): e et 3R 39 IRER % offe gl =6l o7 e | eyl fyfte

&

(A)
(B)
(©
(D)

J—6809
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(A) T § R (R) Ted g
(A) 3R (R) TH T2 2 |
(A) T T, T (R) T R
(A) 3R (R) T Ted & |
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41. In case of remand of a person, a magistrate has to confirm to conditions of :
A) Custody not more than 15 days

(

(B) Reasons of passing such orders should be recorded

(C) Chief judicial magistrate should be informed about the order and reasons
(

D) All of them

42. Who can authorize arrest verbally ?
(A) Police officer (B) Probation officer

(C) A magistrate (D) None of them

43. Sale proceeds received out of the looted cash against the sale of land by a vendor and
deposited in savings bank account :

(A) can be seized (B) cannot be seized

(C) can be depossessed (D) None of these

44. Law where the state acts to try an offender and imposed punishment is :

(A) Traditional (B) Civil (C) Contract (D) Criminal

45. A marxist-influenced criminology is likely to claim that :
A) Law reflects cultural agreement

B

~—"

State authorities are more impartial than private authorities

C) law and law enforcement are shaped by the class relations of the society

(
(
(
(D) Law is unnecessary in a socialist society

46. 'Victim Precipitation Theory” was propounded by :

(A) Marwin Wolfgang (B) Benjamin Mendelson
(C) S.Cohen (D) Burgess

47. The study entitled as ‘“The role of victims in crime” was done by :

(A) Abdal Fallah  (B) Van Henting (C) Ryan (D) Martine
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41.

42.

43.

44.

45.

46.

47.

et =t & fmwe & amar § Bfsee 1 vl ot gfE S e §

(A) TeUEd 9=g fo7 9 st w1 A 8 |

(B) TH AR fed 9 o R off e frd s =nfew |

(C) = 3TN 3R 38 wRvl & ufa =iw fefora Afawe o1 o gfea fean s =ifew)
(D) IWIH Gt

Oifges 9 ¥ fIRHr 1 1fusr f5a 2
(A) T8 THER (B) WevH sfem  (C) B (D) WG H A FE TR

TS T ¥F 9 WE Y A= T hig off SHH, 6 SATIRT 3 TS T 9=l § IR 36 &9 ol 9=
@A H ST T <l © dl TH 9T ol

(A) N 5 R S Hehar § (B) fed &l foham ST Wehal |
(C) FNITH afE fFn MERA8? (D) STb o § & T |

39 fafy forme stavfa 18 T fondt oTaeh W gehedn SIaiT =ed! § 37 39 Tell A1 =16l 3,
aqr F R ?

(A) 9HRe fafy (B)  Tafoa fafy (C) wfoer fafy (D) <us fafy

ATeRIaTE | gefaa oTauy foqt g1 8 <ren fohan S weha © o6

(A) fafy drarfass wfaer #1 uftefea s ®

(B) T Weht Frsit wiferenial =kt gt  siferer fowet € €

(C) = & ot wwarei g fafy iR fafy o @m] <A aredt 1 faefcor S 21
(D) GurSETE! FE # fafy s ¥

~—"

fafeen gfafyesy = foemm & -
(A) T W (B) WA Hee®d (C) TH. &hied (D) =™

‘fo A1 e fafeemst 57 shsn’ o1egaq foem foran 2
(A) <A FER (B) oM gfm (C) Rem (D) WA
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48. Which one of the following persons is associated with the emergence of the field of
victimology ?

(A) Edwin H Sutherland (B) Robert K Mertan
(C) Hans Van Henting (D) Emile Durkheim

49. Abolitionists are associated with :
(A) crimes (B) capital punishments

(C) victims (D) penology

50. Assertion (A): Mendesohn is credited with having made the first criminological
identification of victim-doer relationship, which he termed as ‘Penal
Couple’.

Reason (R) : Victomology deals with dynamic relationship between the offender
and his victim.

Code :

(A) Both (A) and (R)are wrong
(B) (A) is correct but (R) is wrong
(C) Both (A) and (R)are correct
(D) (A) is wrong but (R) is correct

-00o0-
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48. Trafafeaa =afed 8 @ & 1 =afe difed fomm & &9 & 39 § grafd § 2

(A) el T gewis (B) & . Fed
(C) THaM efen (D) UfHel =™
49. START GEIYT T :
(A) 90U (B) YIS (C) Tdifea (D) <=

50. 3fueRe (A): Hfedes &l a8 97 um ¥ f& 3o gduyw difeq stouet & gwereh «t
3TYY ANEY Yga < fSrEen! 39 Svereeh i o1 AW fean § |

@ (R) : Hifea foam oTawelt IR g g Wifed =afh & ofia Toret Trereil ¥ a8R
AR |

(A) (A) 3R (R) SHI T €1
B) (A) W& T W (R) T g

(A) 3R (R) A1 Tt T
(A) T € W (R) T

-00o0-
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